o
[N

...........................................................................................

<3 @> (rad)
<)
o [
)

H | SR e | e e e - e < - - - - - R R
: E + T :
| 0.5F------ I3 b I L I
oF

2 3 —1 2 3
TPlpoT (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)

"
+
s
‘g

DOUM_TT__ORIGINAL
DQM_TT__MODIFIED_layerProcv2
DOQM_TT__MODIFIED layerProcv2_windows
DOM_TT __MODIFIED layerProcv2_windows_hits

=1 —~1
g OGE : g_ OC:
= 80F---1-41 AL R SR = 80F----HE-H
A r | ¥ £ A r 4
2 60 H b < 60F - Foosp e
o F ; : o F 1
Vv 40:—"" T *’ R R \ 40_—"" T T
20F- {1 T oo 20F- o b e
o : T & o T
O~ 11§+ S O+ TH 1ttt 5
_20'_.... . .................... _20'_...."- 1 &t E
~40fF--4-- - | —~40F---- ot
—-60F----# ‘: FE 3 B E SRR SRR -60F---- -1 FE 3 B § R SRR
A B T I L Y T T
el e 1 N A 0 R A RS
o: B l +T N OE B B N

107 1 107 1

2 3
TPl[g)T (PCA f%)obeamlinép

= 5
(=} - .
X o :
= o :
A i R B & B H SRR E A B SRR L
o E ;
= 3:— """"" -' """"""""""""
o E :
o) 24t H- R B 1 R L B R
\Y o : 1 ¥
=t fib e T
E LTEHE LT
0:_"" T4 =,'T I
o 3.‘_"' i = «E
_l__ T2 4 T+ rrirr- et
F ¥ + O+
—2F---- s
= £
-3F---- iH--- A R LET T
=41 I B N [ R N R R
E ] ] ]
o —5F T £
'% --n-n-- HBG EL R g P s o (EREE TR R PP
I ohd
24 [ H HT
0.5F T JEENS
.51 b
ok

—1 I : 2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


